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] Question 1
2) The 3™ term of an arithmetic progression is 16, and the ;fh term is 79
@ Find the first term and common difference.
(i)  Find the sum of the first 25 terms.
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Mathematics
&) Find the values of x for which 2x+2, Sx+1, 10x + 2 form:
G An a_rithmeﬁc progression

(i) A geometric progression .-

General Instructions Total marks — 45
« Working time — 55 minutes ¢ Attempt Questions 1-3
* Start each question on a new page » All guestions are of equal value

in your answer booklet.

« If any additional booklet is used, please
label it clearly and attach it to the
appropriate booklet.

* Write using black or blue pen only.

* Board-approved calculators may
be used.

= Al necessary working must be shows.

».Marks may be deducted for careless or
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(Question 2

2) Differentiate each of the following with respect fo x.

@ y=3x"-Tx

b) A curve has the équaﬁon: y=2x*—52" -1,
Find:

)  The gradient 6f the tangent fo the curve at the point (-1 ;—4)

() Show that the equation of the nermal atx =~1 s given by:

x+2y+9=0
€ Find 17 (L) for the function:
: . N
F=50
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Question 3 Marks
a} State which point on the sketch below fits all of the following descriptions: 1
M 2.
y<o . Poo d—f <0
dx dx
4
y=5
B
- B
A
C b
b) A right-angled triangle needs to be created subject to the condition that the sum of
the perpendicular sides is to be 26 cm.
(f) Show that the area of the triangle is given by: 2
e 26x—x*
2
(i) Find the lengths of the sides that will give a maximum dred. 3
¢) For the curve y =x° + 6x> + 9x+1:
(¥ - Find 2l turning points on the curve and determine their nature. 4
(&) Find any points of inflexion 2
¢itf) Find the absolute maximum point in the domain -4 <x¥<1 1
(tv) Sketch and label the curve on a number plane. 2
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